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4.10 Brownian Motion on the Halfline.

It is not possible to construct the Brownian on the halfline [0, 00). Sooner or
later it will hit 0 and then immeditely would turn negative as the following
lemmas show.

Lemma 4.12. For any x € R, for the Brownian motion on R,
P.lrp <o0]=1
Proof. From the reflection principle for any x > 0,
P.ro<t]=2P, [z(t) <0 —1 as t— oo.
O

Lemma 4.13. (Blumenthal’s 0-1 Law). If Py is any diffusion constructed as
the unique martingale solution starting from x, and A € Fop = Ns > 0F;, then
Py (A) =0 orl.

Proof. Assume that Py ;(A) > 0. Then Qa(-) defined by

Qa(E) = %&)E)

is easily seen to be again a martingale solution and so must coincide with P ,.
Hence

P07;E (A N E) = P07;E (E)P07;E (A)
In particular A and F are independent. Taking E to be A, we get P(A) =1. O

Lemma 4.14. For the Brownian Motion P, starting from 0, for any 6 > 0,
Plw:zt) >0 for 0<¢t<4 =0
Proof. For any 6 > 0

P, [Usso{w: z(t) >0 for 0§t§5}]:§in%Pm[w:x(t)20 for 0<t<J]

1

< 1i : >0 < =

_(%E%Pm[w ;[:(6)_0]_2
The set A = Usso{w : z(t) >0 for 0<t<4§}isin Fos and by Lemma 4.13,
Py(A) = 0. O

We have to do something drastic to the Brownian Motion to keep it on the
halfline. We want to characterize what we could do. We want to characterize
all strong Markov families { P, } that have continuous paths, live on the half line
and behave like a normal Brownian Motion away from 0. The last property is
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described by the following. For any smooth f that vanishes in a neighborhood
of 0,

X5(6) = Fla(®) = e 0) = [ 5 (wls)ds

is a Martingale with respect to (2, F;, P;). By approximation we can easily
extend the property to functions f which are quadratic near oo while still van-
ishing near the origin. Hence such processes have two moments and in fact as
many moments as we need. Any function with f(0) = f/(0) = f”(0) can be
approximated in the C? topology by functions that vanish in a neighborhood of
0. Constants are no problem. Therefore the martingale property is valid for all
smooth functions f, that satisfy f/(0) = f”(0) = 0.

Lemma 4.15. The function z(t) is a submartingale with respect to any P, and
can be written as

w(t) = A(t) + M(t) (4.15)

where M(t) is a martingale and A(t) is a continuous nondecreasing function of
t that increases only when x(t) is at 0.

Proof. Approximate x by
fe(x) = x — € arctan z
€

Because 1
7 €T
— = (¢ - > O
37(0) = ale) = i >

fe(x(t)) is a submartingale and in the limit so is z(¢). Existence of moments
provides enough uniform integrability. Although a general theorem will tell us
that a decomposition of the form (4.15) holds, we will do it by hand in this case.
We obviously want to take

t

At) = ].iII(l) A(t) = liII(l) ge(z(s))ds
€E— €— 0

Let us try to control

B [[A(1)]?

]
-y [ /] o ge<x<t1>>g€<x<t2>>dt1dt2]
-y [ / o)) [fele) - ﬂ(w(n))]dtl}
If we define o

ge(t) = sup sup B [fc(a(s)) — fe(2(0))]

0<s<t =
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Then

E[[A®)?] < 2[q. ()]
Or more generally,

E [[A(t)]*] < k! [ge(t)]*
We next estimate g.(t).

t
qc(t) = sup sup Ef= [(:zs(t) — earctan &) — (z — earctan E)
0<s<t = € €

< sup sup B [|z(t) — =]
0<s<t =

< sup supy/EP [|z(t) — 2]
0<s<t =

We saw that z(t) is a submartingale. By a similar argument one can show
easily that x2(t) — ¢t is a supermartingale. If we approximate 22 by he(z) =
[z — earctan £]?

he () = X(0,00) (2)
and is uniformly bounded. Therefore

t

2(0) = 220) = [ Xooo)a(s))ds
0
is a martingale. Therefore
EP [|x(t) — xﬂ = EP- [3:2(15) — 2x(t)x(0) + xQ(O)]
< E" [2%(0) + t — 22°(0) + 2%(0)]
=1
Providing us the estimate
qe(t) < k2.
O
We will develop two methods for the construction of Brownian motions on
the halfline with sticky boundary condition. The reflected Brownian motion
exists as the family of distributions {P?} obtained from the Brownian mo-
tion measures {P;}, by the map P? = P,®~! where ® maps C[[0,00); R] into
C[0,00); Ry] by B(:) — |B(:)|. Relative to any (Q ,F;, P)) there is a local
time A(t) with the following properties:

1. A(t) is nondecreasing and the support of the measure dA(t) is contained
in the set {t: z(t) = 0}.

2. For any smooth function f

falt) = F@O) = [ 31— FOA)  @16)

is a martingale relative to (Qy , F;, PY).
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3. The process z(t) spends no time on the boundary 0, i.e. for any z € Ry,

/Ox{o}(:v(s))dSZO a.e. P? (4.17)

We define a new increasing function
B(t) = A"1A(t) +t

where A > 0 is a positive constant. B(t) is a continuous strictly increasing
function of ¢t for any choice of A > 0. For almost all w the decomposition of B
into

dB=\""dA+dt
is its Lebesgue decomposition.
support dA = {t : z(t) = 0}
and, because of () we can take
support dt = {t : z(t) > 0}

We now conclude that the Radon-Nikodym derivatives are given by

)

and

dt

1B X(o,oo)(x(s))

We define 7; as the solution of

and define

y(t) = z(m)-
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Then

t

P50 = [ 570600 W6 =27 0) [ o wls)is
= Fatr) = F0) ~ [ 30 ol
21O [ oot
= () = £@l0) — [ 31" @(r0) X000 (7 )B(S)

0
CAF(0) / oy @(raee)))dB(s)

(by change of variables s — B(s))

= fa(m) = £(ol0) = [ 35 D0 (o) B()

CAF(0) / " o) (())dB(s)

" 1 " !/
3" a(s)is =270 |
= F(am) = F@() = [ 31 (als)ds = A O)A(r)

0

Tt

— fla(n)) - f(x(0)) - / dA(s)

is a martingale with respect to (2, F,, , P?). Since the o-field o{y(s) : 0 < s <

x

t} C F,, we conclude that the distributions {P}'} of y(-) have the property:

F0(0) = FO) = [ 5" 000 065 = AFO) [ xgap )

are (Q4 ,F;, P)) martingales. Speeding up the clock at the boundary so that
the local time at the boundary turns into real time converts the reflected case
to the sticky case. Conversely if we stop the clock when the process is at the
boundary, any sticky case will become the reflected case.

Let us cosider the sticky case and define the function

B(t) = / X (000 (2(8))ds.

We then define 74 by
and y(-) by

To begin we need a lemma.
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Lemma 4.16. Relative to any P, the function B(t) is almost surely strictly
increasing in t. In other words, although the process sticks at the boundary it
never spends a positive ‘interval ‘of time at the boundary.

Proof. The proof amounts to showing that if we start at the boundary, then
Py [inf{t: z(t) >0} =0] =1
Let us define
T =1inf{t: z(t) > 0}

Although 7 is not quite a stopping time, it almost is, in the sense that 7 + € is
a stopping time for every € > 0. By working with 7 4+ € and letting € go to 0
at the end the strong Markov property is seen to hold for 7. By Blumenthal’s
0—1 law,

P, [r=0=0 or 1

If it is 1 we are done. If it is 0, at the end of this time 7, the process is still
at 0 but now ‘knows’ that it should get out. Clearly a violation of the strong
Markov property. [l

Now we return to our main goal. We know that

Falt) = F@() = [ 37760 (6)ds = A70) [ oy ale)is

is a martingale. with respect to (2, F;, P)). Therefore for f satisfying the
boundary condition f’(0) = 0,

fatr)) = 1) = [ 31" @0 (ol

0

is a martingale and we are done.

Ezxample 4.1. Let us try to calculate
pat) = Fg' [z(t) = 0]
We try to calculate
pale,t) = Py [x(t) = 0]

by solving the equation
ou 1 0%u
ot 20x2
with the boundary condition

Aug (0) = %um(O)



80 CHAPTER 4. STOCHASTIC DIFFERENTIAL EQUATIONS.

and the initial condition
u(0, ) = xoy ()

The Laplace transform

v(a,x):/ e tu(t,z)dt
0

solves 1
au—ivmzo for >0

with the boundary condition

ov(0) — A, (0) =1

Clearly
Vs (2) = aexp[—v20 ]
with
a [U + )\\/50} =1
or .
a=a(o,\) = {U+)\v2a]
Hence

-1

/000 pa(t)e 7tdt = [U + /\\/%}

This can be explicitly inverted to yield

o0 2 (E2 o0 2 (E2
ni = [\ Bt = [\ [Fe ey,
0 Q0 0 Q0

Let P{ be the reflected Brownian Motion starting from 0. The distribution
of the local time process A(t) can be found exactly.

Theorem 4.17. The process A(t) has the same distribution as that of the pro-

M(t) = sup B(t)

0<s<t

of the mazimum of a Brownian motion starting from 0.

Proof. By Tanaka formula

£(t) = [B(t)] = / sign ((s))dB(s) + A(t) = 2(2) + A()

where z(-) is again a Browninan Motion process and A(t) is the local time
process. We will establish that

A(t) =— inf z(s)= sup [—z(s)]

0<s<t 0<s<t
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In fact let f, g and A be arbitrary continuous functions with f(t) = g(t) + A(t),
f(0) = g(0) = A(0) = 0, f > 0 and A(-), nondecreasing and increasing only
when f(t) =0, i.e. support of dA is contained in {t: f(¢t) = 0}. Then f and A
are uniquely determined by g and

A(t) = sup [—g(s)] (4.18)

0<s<t
It is easy to see that with the choice (4.18) for A(¢), and f(¢) = g(t) + A(t) we
get f(t) > 0 as well as {support of dA} C {t : f(t) = 0}. We will now prove
uniqueness. Let
fit) =g(t) + Ai(t); i=1,2

with

{support of dA;} C {t: fi(t) =0} i=1,2. (4.19)

We have
f1(t) = fa(t) = As(t) — Az(2).
Since A;(t) — A2(t) is a function of bounded variation, using (4.19)

t
0

[AL(t) = A2(1)]* = / [f1(s) = fa(s)][dA1(s) — dAa(s)]
= —/ fl (S)dAg (S) — / fg(S)dAl (S)
0 0
<0

giving us uniqueness. [l

In particular we have

PY[A(t) > ] = Py ngtﬂ@ > e] = / N @ exp[—j—i]d:c

4.11 Reflected Processes in Higher Dimensions.

We will quickly describe some multidimensional generalizations of reflected
Brownian Motion. Let G be a smooth region in R? and a = {a; ;(2)}, b =
{bi(z)}, coefficients that are ‘nice ’, i.e. a is smooth and positive definite and
b is smooth. We want to construct a solution and we need to describe what
happens when the path reaches the boundary. We will deal exclusively with
the the reflected case and just make some comments at the end regarding other
possibilities. Reflection is a bad choice for the name, but in reality the process
gets kicked in, in some direction pointing to the interior as soon as it reaches
the boundary. So we have a direction J(b) pointing to the interior at every
point b € B = 9G. We want to show that given a,b, G and J, there is a unique
family of solutions {P, : € GUB} on Q = C[[0, c0); GU B] with the following
properties.
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1. PJz(0)=2] =1

2. P, Ug xs(z(s))ds =0 =1

3. For any smooth function f that satisfies < J(b),(Vf)(b) >> 0 on B,

t
0

F(a(t) — F(x(0)) / (CF)(x(s))ds

is a submartingale with respect to (Q,F;, Py).

The question of existence is a question of nonexplosion as well. To avoid the
problem of dealing with this issue let us assume that our domain G is bounded.
Then the question is purely local. If we start from z € G we know what happens
until we reach the boundary. We do not see it. P, is just the same as the solution
with no boundary until the exit time from G. We therefore need to construct
local solutions when we start on or near the boundary. This is carried out in
several steps.

Step 1. Make a change of coordinates so that a boundary point b becomes 0
and the boundary becomes x; = 0, a straightline near that point. This will
reduce the problem to a half space. The direction J on B = {z : ;1 = 0} can
be described by (1, Ja(za, - ,24), -, Ja(xa, - ,x4))-

Step 2. Now make another change of coordinates of a special type, 1 — z1,
x; — x;—x1 Ji(x2, - ,xq) for 2 < i < d. The bounadry remains the same, but
the new direction J is just (1,0,---,0), the inward normal.

Step 3. By a Girsanov formula which can be extended to this case we can
assume that b = 0.

Step 4. In the current coordinate system aq 1(x) is a strictly positive function
and we can do a random time change using 7; defined by

/Tt a1(z(s))ds =t
0

to reduce it to a1,; = 1. At this point if f = f(x;) is a function of 1 only then

1
(L)) = 5" (1)
so that the process x4 (t) is in fact the one dimensional reflected Brownian Mo-
tion.

Step 5. We can find a square root o(z) for a(z) such that a(z) = o(s)o™*(x)
with 011(z) = 1 and 01 j(z) = 0 for 2 < j < d. The stochastic differential
equations for z(t) now look like

d (1) = dB(t) + A(t)
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which is the decomposition of the reflected one dimensional Brownian motion
and is already solved.

dzj(t) = 01 (w1 (t), 22(t), -, za(t))dz: (t)
+ > oinaa(t),za(t), - a(t))da; (t)

2<k<d

which can be solved by iteration for x2(), - ,z4(-) because the boundary has
no effect on them directly.

Comments: We may try to stick to the boundary a little bit. This is dealt the
same way as in one dimension. We can obtain it by random time change from
the reflected case using the local time on the boundary. The holding rate p can
now be a function p(b) defined on B. The local time A(t) in the reflected case
can be used to construct the time change

/OTt AMz(s))dA(s) + 7 =t

where A\(b) = [p(b)]~!. Finally a new phenomenon that can happen is that
the path might diffuse on the boundary which amounts to the kick having a
random tangential component. Imagine in the case of a halfspace, being kicked
form the boundary point (0,), to the interior point (&, y +6.J(y) + V/3¢) where
¢ is a gaussian random vector with mean 0 and covariance matrix D(y). The
boundary condition then becomes

Lo < of 1 <& 2f
(Bf)(b)_8—m+;Jj(y)87j+§i;1Di’j(y)m_o

at b = (0,y) € B. Here y refers to the cordinates xo through z4. Of course this
can happen in the sticky situation as well and the boundary condition then is

(L)) = p(b)(Bf)(b)



